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Set02 for No.l

NoOI =[n(U)=35,n(4)=14,n(B)=20,n(4 N B)=8]
n(U) =36 n(4)=21 n(B) =24 n(C)=15 }
(AN B)y=11 n(4dnnC)=9 n(Bn C)=5 n(intersect(4,B,C))=1
No03 =[N=68, F=36, V=34, X=22]

No04=[N=124, E=55M=72,B=64,X=0,Y=32,Z=20]
No05=[N=45,G=30,W=27,R=25,4=2,B=6,C=14,D=9]
No06=[n(U)=45,n(4 N B)=17,(n(B N A)=n(4 N B))=7]

No07=[N=31,4=16,B=19,C=20,D=5E=11,F=11]
No08=[A=22,B=8,C=16,D=14, E=13,F =23, G=8]
No09 =[N =500, A = 320, B =260, C =230, AB = 150, BC =90, AC = 190, P = 14]
Nol0=[N=560,S=160,4=250,B=110,C=200,D =160, E=120]

0007070700000 0000 000000000000 00N0e0 0000000000000 00 0000000000000 0000000000000 e

No(02 = |:
n



[ X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXKXKKXKXKXKXXKXKXKXKXKXKXKXKXKXKXKXKXKXXKXKXKKKKK6300302-00001XX

Set02 Answers for No.l
n(4 U B)=26 n(4)=21 n(B)=15

Ansl=| n(A-B)=6 n(B—A)=12 n(4 U B)=23

n(d U B)=27 n(4-B)=8 n((4 n B))=27
n(union(4, B, C)) = 36 n(4-B)=10 nd nC)=9

Ans2 = n(C-4)=6 n(intersect(4, C,B))=8 n((4 U B)-C)=12

n(C N (A/uB'),):l n(C-(4 N B))=14 n(d-B-C)=2
Ans3 =[ans.l1 =26, ans.2 =48, ans.3=20], , Ans4=20, , Ans5=19
Ans6=14, , Ans7=7, , Ans8=34, , Ans9=10, , Ans]O =120
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